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I .SIMULATED TESTS

Test 1

Part 1 Listening Comprehension
Section A

Directions: In this section, you will hear 10 short conversations. At
the end of each conversation, a question will be asked about what was
said. The conversation and question will be spoken only once. After
each question there will be a pause. During the pause, you must read
the four choices marked A), B), C) and D), and decide which is
the best answer. Then mark the corresponding letter on the Answer .
Sheet with a single line through the centre.
Example: You will hear:
You will read; A) At the office.

B) In the waiting room.

C) At the airport.

D) In a restaurant.
Sample Answer (A-] (B} (C) (D)

From the conversation we know that the two were talking about
some work they have to finish in the evening. This is most likely to
have taken place at the office. Therefore, A) “At the office” is the
best answer. You should mark (A) on the Answer Sheet with a sin-

gle line through the center.



. A) She didn't do anything. )
B) She went to New York on Saturday.
C) She went to Chicago last weekend.
D) She went to New York with the woman.
2. A) At home. B) At Larry’s home.
C) . At the office. D) In the hospital.
. A) He'll get angry.
B) He's looking for a parking ticket.
C) He has to buy a parking ticket.
D) He will discover it himself.
. A) Twenty or thirty minutes.
B) Three hours.
C) Less than two hours.
D) Less than 2.5 hours.
. A) Billy is more cheerful than Peter.
B) Peter is more intelligent than Billy.
C) Billy is more imaginative than Peter.
D) Peter is more generous than*Billy.
. A) At 2 o'clock. B) At 3 o'clock.
C) At 4 o'clock. D) At 5 o'clock.
. A) Playing games.
B) Doing physical exercises.
C) Arranging furniture.
D) Looking for something.
. A) She lent James Smith some money.
B) It’s bad news that her money was spent.
C) James Smith shouldn’t often borrow money from the man.
D) She meant to lead ] ames Smith some money.
. A) To have his hair cut.
_ 2 _



B To go ro school. )
) To plav basketball after scheol.
I}) To corue home immediaicly after schoal
10. A} The man declined to make conmments.
13) Both speakers think half of the stalf are very efficient.
) The woman approves of the hotel staff, but the man doesn’t.

D} The two speakers disapprove of the hotel staff’s attitude.

Section B
Directions: fn this section, you will hear 3 short passages. At the
end of each passage, you will hear some questions. Both the passage
and the questions will be spoken only once. After you hear a question,
you must choose the best answer from the four choices marked A),
B), C) and D). Then mark the corresponding letter on the Answer
Sheet with a single line through the centre.
Passage [ '

Questions 11 to 13 are based on the passage you have just heard.
11. A) That are noisy. B) That are expensive.

C) For himself. D) For others.
12. A) By going to the kitchen to get some water.

B) By going to the bathroom to wash his hands.

C) By getting angry with his roommate.

D) By getting angry with his friends.
" 13. A) Because she wanted the speaker to know she was there.

B) Because she didn’t know the speaker was there.

C) The speaker liked her voice.

D) Because she was happy.
Passage ||

Questions 14 to 16 are based on the passage you have just heard.

-_— 3 P



14. A) Because he was very poor.

B) Because he wanted to see the nobleman.

C) Because his farm belonged to the nobleman.

D) Because the nobleman'’s children liked apples.

15. A) They jumped and jumped.
B) They played with children.

C) They threw away the basket.

D) They ate some of the apples.

16. A) Pleased.
C) Excited.
Passage [l

B) Unhappy.
D) Sure.

Questions 17 to 20 are based on the passage you have just heard.

17. A) In a big city.

C) In a small town.
18. A) At 15 years old.
C) At 17 years old.

19. A) Mississippi.
C) New York.

20. A) Traveller.
C) Author.

Section C

B) In a big town.
D) In a large town.
B) At 16 years old.
D) At 18 years old.
B) Africa.

D) Europe.

B) Publisher.

D) Biographer.

Directions: In this section, you will hear a passage of about 120
words three times. The passage is printed on your Answer Sheet with
about 50 words missing. First, you will hear the whole passage from
the begining to the end just 1o get a general idea of it. Then, in the
second reading, you will hear a signal indicating the beginning of a

pause after each sentence, sometimes two sentences or just part of a

sentence. During the pause, you must write down the missing words

_4_.
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you have just heard in the corresponding space on the Answer Sheet.
There is a different signal indicating the end of the pause. When you
hear this signal, you must get ready for what comes next from the
recording. You can check what you have written when the passage is

read once again without the pauses.

Equality of the sexes is a very complicated problem. Today (21)
. She is a technician (22)
. She has been very unhappy recently

(23) with her boss. It all started
(24) . to go abroad for a training
course. By qualification (25) X -

a college degree, a working knowledge of English and generally ac-
knowledged (26) . But the final
choice fell on a young man (27)

__. Naturally she was very upset and (28) e

. Her boss who in fact quite liked her (29)
. “We did think of sending you (30)
because you are a girl. ”

Part ]I Reading Comprehension

Directions: There are 4 passages in this part. Each passage is fol-
lowed by some questions. For three of them there are four choices
marked A), B), C) and D). You should decide on the best choice
and mark the corresponding letter on the Answer Sheet with a single
line through the centre. As for the one without choice, you just write

out the answer very briefly based on the passage.

(1)
Everybody wastes time. Instead of doing his homework, the
—_ 5 —



student watches telqvision. Instead of writing her essay, the student
goes out with her friends. They all have good intentions, but they
keep putting off the moment when they must start work. As a conse-’
quence, they begin to feel guilty, and then waste even more time
wishing they had not allowed themselves to be distraced (4.

When someone else is organizing our time for us, as for instance
during lessons or working hours, we do not necessarily work more ef-
ficiently, but at least we are subject to the discipline of a routine. It is
when we are responsible for organizing our time that the need for self-
discipline arises. '

I knpw two writers who seem to work in quite different ways.
Bob is extremely methodical (F#F¥EHJ). He arrives his office at 9 a.
m. and is creative until 12:30. At 2p.m. he returns to his desk and
is creative until 5 p.m., when he goes home and switches off until the
following morning. Alan, on the other hand, works in inspired
bursts, often missing meals and sleep in order to get his ideas down on
papers. Such periods of intense activity are usually followed by days
when he potters (P#E, HFF) around his flat, listening to Mozart
and flicking through magazines.

Their places of work reflect their styles. Bob's books are neatly
arranged on the shelves; he can always find the books he wants.
Alan, on the other hand, has books and magazines all over the places.
They are about every subject under the sun, mostly unconnected with
his work. All the same he has a knack (#517) of making use of the
unlikely information to illuminate his books.

31. When people waste time instead of getting down to work they
start to
[é) waste even more time worrying about it.
B) hope they had good intention.
_— 6 —_



C) wish that they had someone else to organize their time.
D) be allowed to be distracted.
f\32 The advantage of working for someone else is that
A) a routine is provided for you.
B) you do not have to worry about distractions.
C) you make better use of your time. _
D) it helps those who are not self-disciplined.
{)}3 Alan has a lot of books and magazines because he
" A) does research in many different subjects.
B) cannot bear to throw them away.
\C) gets ideas from them for his writing.
k?s) is a very untidy, disorganized person.
34. Alan’s work schedule can he best described as
A) inspired. \I%) irregular. C) inefficient. D) intense.
35. Which of the following would describe Bob’s way of working but
not Alan’s? v

A) Creative. B) Strange.
C) Disorganized. I\)) Well-organized.
(2)

Reading is not the only way to acquire knowledge of preceding
work. There is another large reservoir which may be called experi-
ence, and the college student will find that gvery crafgsman has some-
thing he can teach and will generally teach é&?‘t llege student
who does not look down upon them with ill-concealed disdain ().
The information from these quarters differs from that in textbooks and
papers chiefly in that its theoretical part — the explanations of why
things happen — is frequently quite fantastic. But the demonstration
and report of what happens, and how it happens, are sound even if
the reports are in completely unscientific terms. Presently the college

—_ 7 —
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student will learn, in this case also, what to accept and what to re-
ject. One important thing for a college student to remember is that if
Aristotle could talk to the fisherman, so can he.

Another source of knowledge is the vast store of traditional prac-
tices handed down from father to son, or mother to daughter, of old
country customs, of folklore (EEM[1%35). All this is very difficult
for a college student to explore, for much knowledge and personal ex-
perience is needed here to separate good plants from wild weeds. The
college student should learn to realize and remember how much of real
value science has been found in this wide, confused wilderness and
. how often scientific discoveries turned out to be rediscoveries of what
had existed in this wilderness long ago.’

36. In line 20, the phrase “this wide, confused wilderness” refers
to

A) personal experience.

B) wild weeds among good plants.

C) the information from the parents.

D) the vast store of traditional practices. -

37. \VVhlch of the following statements is supported by the passage?

A) The college students have trouble separating good plants from

wild weeds. |

B) Craftsman’s expenence is usually unscientific.

") The contemptuous college students will receive no instructions

from craftsmen. ’

,Q-) Traditional practices are as important as experience for the

college student. :
38. From this passage we can infer that
A) we'll invite the craftsman to teach in the college.
B) schools and books are not the only access 10 knowledge.
- 8 —_—



d

C) scientific discoveries are based on personal experience.
D) discoveries and rediscoveries are the most important source of
knowledge for a college student.
39. The author advises the college student to
A) be ill-concealed towards the craftsman.
B) be patient in helping the craftsman with scientific terms.
C) . learn the craftsman’s experience with a critical eye.
obtain the craftsman’s experience without rejection.
40. \’fhe main idea of this passage is about
A) what to learn from the parents.
B) how to acquire knowledge. '
¢) why to fearn from craftsmen.

D) how to deal with experience.
(3)

Christopher Columbus was first and foremost a sailor. He was
born and reared in Genoa, one of the oldest European seafaring (LA
MR H) communities. As a youth he made several voyages in the
Mediterranean, where the greatest mariners of antiquity (%)
were bred. At the age of twenty-four, by a lucky chance, he was
thrown into Lisbon, center of European oceanic enterprise. There,
while employed partly in making charts and partly on long voyages un-
der the Portuguese flag, he conceived (#J48, 1%#8) the great enter-
prise that few but a sailor would have planned, and none but a sailor
could have executed. His idea was to reach “The Indies” — Eastern
Asia — by sailing west. It took about ten years to obtain support for
this plan, and he never did execute it because a vast continent stood in
the way. America was discovered by Columbus purely by accident and
was named for another man. We now honor Columbus for doing

something that he never intended to do and never knew that he had
— 9 —



done. Yet we are right _m_so honoring him, for he had_the persis-
tence, the knowledgs, and the sheer nerve 1o sail thousands of miles
A AAY)_ and

16 3 ). geographical discovery in recorded

into an unknown ocean 1o make the mest spectacuiar (

human history .
41. According to the passage, why did Columbus go to Lisbon?
A) In order to learn chartmaking.
B) For no particular reason and without planning to do so.
C) Because he could not find work in his native Genoa.
D) Because he needed to recruit sailors for a voyage to the Indies. .
42. According to the passage, in Columbus’ time Lishon was the
A) only place he could have gone to complete his education.
B) site of more shipping and sailing businesses than there were in
any other part of Europe.
C) most important center in the world for ocean exploration and
discovery.
D) only place in which he could have found support for his voy-
ages of discovery.
C, 43. The author of the passage regards the discovery of America as
A) something every man might dream of doing.
B) the most important event in all of the history of mankind.
C)a geographical discovery of the first importance.
D) a curious accident whose importance has been exaggerated.
44. The idea which Columbus advanced but never proved was that
A) a vast Continent stood in the way of the route to the East In-
dies.
B) Europeans could sail unobstructed around the world.
C) America was discovered by and named for the wrong man.
D) Europeans might reach Eastern Asia by sailing west. '

w
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45, According to the author, swhich of the ollowing starerncnts o=
ture?

A) Columbus spent ten years persuading the Portugoese o fi-

nance his plan for exploring a new conunent.

B) Columbus did not mean to sail to America and never realized

he had discovered a new continent.

C) Columbus realized that he had found a highly profitable new

route to the Orient. '

D) Columbus deserves honor for having named the continent that

he discovered.
(4)

In many ways, our society is simply not geared (i&4&) for the
kinds of lives that the elderly must lead. We have made medical ad-
vances that allow people to live longer than ever before, but we do not
seem to know what to do with them after we have saved their lives.
Foo little allowance is made for the person who is no longer earning a
living, who cannot walk long distances or drive a car, or who may
have physical or mental disabilities that keep him from communicating

with others. The institutional care we give our older people is a_good

reflection of the overall attitude of our society toward the aged. In the

past few years, nursing homes have received wide attention as boring,
meaningless places where old people often have little else to do but wait
for the end of their lives. Senile wards in mental hospitals are even
worse. One of the most shocking things about nursing homes has been
the unwillingness of people on the outside to show real concem for
what happens in these institutions. Even people who are entrusting a
parent to the care of a home rarely ask about the nurse -patient ratio,
about the kinds of creative facilities or physical therapy equipment

available, or even about the frequency of doctor’s visit. And the gov-



ernment has provided federal money without enforcing high standards
of care. In fact federal standards were lowered in 1974. Therefore,
in some sense our concern for the aged seems to be moving backward,
not forward. This picture is in striking contrast to the treatment of
venerable patriarchs and matriarchs in many societies.
46. What would the most appropriate title be for this selection?

A) Institutional Care

B) The Elderly

C) Failure of Care for the Elderly

D) A National Disgrace
. The writer believes that children who place a parent in a nursing

home should

A) demand higher government standards

e
vl

B) investigate it first
\C) be ashamed of not keeping the parent in their own home
D) consider the example set in other countries

48. We can conclude from this passage that the writer feels

A) nursing homes should be brought to an end
B) children have no gratitude toward their parents
\9) a country that can help people live longer should also be able
to care for them better
D) our society’s institutions need to be reformed
49. What is the topic sentence of the passage?

Part [l Vocabulary and Structure
Directions: There are 30 incomplete sentences in this part. For each
sentence there are four choices marked A), B), C) and D). Choose

the ONE that best completes the sentence. Then mark the corre-
— 12 —



